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  àíZ-nÌ H$moS>       
 Q.P. Code  

amob Z§. 
Roll No. 

   
 

_Zmo{dkmZ (g¡ÕmpÝVH$) 
PSYCHOLOGY (Theory)  

: 3 : 70 
Time allowed : 3 hours Maximum Marks : 70 

 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 23 h¢ & 
 àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE àíZ-nÌ H$moS H$mo narjmWu CÎma-nwpñVH$m Ho$ 

_wI-n¥>ð> na {bI| & 
 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >36 àíZ h¢ & 
 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, CÎma-nwpñVH$m _| àíZ H$m H«$_m§H$ 

Adí` {bI| & 
 Bg  àíZ-nÌ  15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU 

10.15 ~Oo {H$`m OmEJm &  10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-
-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 Please check that this question paper contains 23 printed pages. 
 Q.P. Code given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 
 Please check that this question paper contains 36 questions. 
 Please write down the serial number of the question in the  

answer-book before attempting it. 
 15 minute time has been allotted to read this question paper. The 

question paper will be distributed at 10.15 a.m. From 10.15 a.m. to 
10.30 a.m., the students will read the question paper only and will not 
write any answer on the answer-book during this period. 
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: 

(i) 

(ii) : 1 18 1 

(iii) : 19 23 I 2 

30 

(iv) : 24 27 II 3 

60 

(v) : 28 31 I 4 

120 

(vi) : 32 II 6 

200 

(vii) : 33 36 

2 2 

30 

 IÊS> H$ 

1. {dO` Ho$ _mVm-{nVm Ag_§Og _| h¢ {H$ dh ½`mahdt (11dt) H$jm _| {H$Z {df`m| H$m M`Z 

H$ao & CgH$s j_Vm OmZZo Ho$ {bE ñHy$b H$mC§gba Zo A{^j_Vm narjU boZo H$m gwPmd 

{X`m & AmnHo$ AZwgma Cgo {H$g àH$ma H$s A{^j_Vm narjm Xr OmEJr ?  1 

(a) {deofrH¥$V  

(b) ñdV§Ì  

(c) gm_mÝ`rH¥$V 

(d) ì`mdgm{`H$  



  

63 Page 3 of 23 P.T.O.   

General Instructions : 

(i) All questions are compulsory, except where internal choice has been given. 

(ii) Question Nos. 1  18 in Section A carry 1 mark each. You are expected to 
answer them as directed.   

(iii) Question Nos. 19  23 in Section B are Very Short Answer Type-I 
Questions carrying 2 marks each. Answer to each question should not 
exceed 30 words. 

(iv) Question Nos. 24  27 in Section C are Short Answer Type-II Questions 
carrying 3 marks each. Answer to each question should not exceed  
60 words.   

(v) Question Nos. 28  31 in Section D are Long Answer Type-I Questions 
carrying 4 marks each. Answer to each question should not exceed  
120 words.  

(vi) Question No. 32 in Section E is a Long Answer Type-II Question carrying 

6 marks. Answer to this question should not exceed 200 words.  

(vii) Question Nos. 33  36 in Section F are based on two case studies given. 

Each case study has two questions carrying 2 marks each. Answer to each 

question should not exceed 30 words.  

Section A 

 

1. 

Grade 11. To know where his strengths lie, the School Counsellor 

suggested that he take an aptitude test. What form of aptitude test do 

you think would be given to him ?   1    

(a) Specialised  

(b) Independent   

(c) Generalised   

(d) Vocational  
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2. Hw$N> bmoJm| H$m ì`dhma AmH«$m_H$, Ah§H§o${ÐV Am¡a g_mO{damoYr$ hmoVm h¡ & Eogo bmoJm| _| 
_________ H$s A{YH$Vm hmoVr h¡ &  1 

(a) gm_m{OH$Vm   

(b) _ZñVm{nVm  

(c) V§{ÌH$mVm{nVm   

(d) A§V_w©IVm  

 

3. Omo AmË_ n[adma Am¡a gm_m{OH$ g§~§Ym| H$mo _hÎd XoVm h¡, Cgo _________ H$hm OmVm h¡ & 1  

(i) ì`{º$JV     

(ii) gm_m{OH$     

(iii) nm[adm[aH$     

(iv) g§~§YmË_H$   

(a) (i) Am¡a (iii) 

(b) (ii) Am¡a (iii) 

(c) (iii) Am¡a (iv) 

(d) (i) Am¡a (iv)  

 

4. Hw$N> {deofH$ AH$ga ì`{º$ Ho$ Zm_ Ho$ gmW K{ZîR>Vm Jm±YrdmXr  `m 

{hQ>badmXr  O¡gr nhMmZ nm boVo h¢ & Bg {deofH$ H$s nhMmZ H$s{OE &  1 

(a) Ho$ÝÐr`   

(b) Jm¡U  

(c) gVhr   

(d) à_wI 
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2. There are some people who are hostile, egocentric and antisocial. They 

are said to be high on _________ .         1 

(a) Sociability  

(b) Psychoticism    

(c) Neuroticism   

(d) Introversion 

  

3. The self that values family and social relationships is referred to as 

_________ .   1 

(i) Personal  

(ii) Social   

(iii) Familial  

(iv) Relational 

 

(a) (i) and (iii) 

(b) (ii) and (iii)   

(c) (iii) and (iv)  

(d) (i) and (iv) 

 

4. Some traits often get associated strongly with the name of the person and 

trait.     1    

(a) Central  

(b) Secondary    

(c) Surface   

(d) Cardinal  
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5. {ZåZ{b{IV _| go H$m¡Z-gm H$WZ X~md H$m gm_Zm H$aZo Ho$ ~mao _| ghr  h¡ ? 1  

(i) gm_Zm H$aZm (coping) X~md Ho$ à{V EH$ JË`mË_H$ pñW{V-{d{eîQ> à{V{H«$`m h¡ &     

(ii) `h X~mdnyU© pñW{V`m| `m KQ>ZmAm| Ho$ à{V Hw$N> {ZpíMV _yV© AZw{H«$`mAm| H$m 

hmoVm h¡, {OZH$m CÔoí` g_ñ`m H$m g_mYmZ H$aZm VWm X~md H$mo H$_ 

H$aZm hmoVm h¡ &     

(iii) {OZ ì`{º$`m| H$s X~md H$m gm_Zm H$aZo H$s j_Vm H$_µOmoa hmoVr h¡, CZ_| àmH¥${VH$ 

ê$n go ZîQ> H$aZo dmbr H$mo{eH$mAm| H$s {dfmº$Vm A{YH$ hmoVr h¡ &     

(iv) ì`{º$ X~mdnyU© pñW{V`m| H$m gm_Zm H$aZo H$s ẁ{º$`m| _| g_mZVmE± àX{e©V H$aVo  

h¢ & 

(a) (ii), (iii) Am¡a (iv) (b) Ho$db (iii) 

(c) (ii) Am¡a (iii) (d) (i) Am¡a (ii)  

6. g§JR>Z Ûmam H$s OmZo dmbr AdmñV{dH$ AnojmAm| Ho$ H$maU _rZm H$m  
H$m`©-dmVmdaU AË`{YH$ X~mdnyU© h¡ & dh AnZr Zm¡H$ar Am¡a Kaoby _moM} na g§VwbZ ~ZmZo 
H$s H$mo{ee H$a ahr Wr & {nN>bo Hw$N> _hrZm| go CgH$s V~r`V R>rH$ Zht Wr & dh 
{M{H$
g§bjU Ho$ AZwgma Eogm {H$g ñVa na hmoVm h¡ ?  1 

(a) gMoV à{V{H«$`m  (b) à{VamoY  

(c) n[alm§{V (d) AZwHy$bZ  

7. dgr_ ha MrµO na nXm© S>mbZm MmhVm h¡ & `hm± VH$ {H$ dh Z Vmo X~md H$maH$m| H$m gm_Zm 
H$aVm h¡ Am¡a Z Cgo ñdrH$maVm h¡ & `h {H$g àH$ma H$s Aghm`H$ AmXV h¡ ? 1  

(a) {dñ_¥{V  

(b) n[ahma  

(c) {db§~Z   

(d) nyU©VmdmX  
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5. Which of the following statements is not true about coping with stress ? 1     

(i) Coping is a dynamic situation-specific reaction to stress.  

(ii) It is a set of concrete responses to stressful situations or events 

that are intended to resolve the problem and reduce stress.   

(iii) People who cope poorly with stress have high level of natural killer 
cell cytotoxicity.  

(iv) Individuals show similarity in coping strategies that they use to 
deal with stressful situations.  

(a) (ii), (iii) and (iv) (b) (iii) only     

(c) (ii) and (iii)  (d) (i) and (ii) 

 
6. 

expectations by the organisation. She had been trying to balance her job 
as well as her home front. Since the last few months, she was not feeling 
well. So, she went for a check-up and was diagnosed with high blood 
pressure. According to General Adaptation Syndrome, at what stage does 
this happen ?     1   

(a) Alarm reaction (b) Resistance   

(c) Exhaustion  (d) Adaptation 

 

7. Wasim is always brushing everything under the carpet and refuses to 

face the stressor or even accept it. Which kind of unhelpful habit is this ?  1    

(a) Forgetfulness 

(b) Avoidance    

(c) Procrastination 

(d) Perfectionism 
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8. amoJmoÝ_wIVm-X~md _m°S>b Ho$ ~mao _| {ZåZ{b{IV _| go H$m¡Z-gm/H$m¡Z-go H$WZ ghr h¡/h¢ ? 1 

(i) Hw$N> O¡{dH$ {dnWZ H$m hmoZm, Omo d§emJV hmo gH$Vo h¢ &     

(ii) _Zmod¡km{ZH$ d¥{Îm Am¡a X~md Ho$ g§`moOZ Ho$ H$maU emar[aH$ {dH$ma {dH${gV hmoVo  

h¢ &     

(iii) amoJmoÝ_wIVm Ho$ H$maU {H$gr _Zmod¡km{ZH$ {dH$ma Ho$ à{V XmofnyU©Vm CËnÞ hmo gH$Vr 

h¡ &     

(iv) {dH$mar à{V~bH$m| Ho$ AZwnpñWV hmoZo Ho$ H$maU _Zmod¡km{ZH$ {dH$mam| H$m OÝ_ hmo 

gH$Vm h¡ &   

(a) Ho$db (i) ghr h¡ & 

(b) (i) Am¡a (iii) ghr h¢ & 

(c) Ho$db (iii) ghr h¡ & 

(d) (ii) Am¡a (iv) ghr h¢¡ & 

9. Hw$N> bmoJ IwX H$mo {deof {dMmam| `m ~ma-~ma Eogo H$m`m] H$mo H$aZo go Zht amoH$ nmVo h¢, Omo 
CZHo$ X¡{ZH$ H$m_H$mO H$mo ~m{YV H$aVo h¢ & BZ bmoJm| _| {XImB© XoZo dmbo bjU 
__________ Ho$ h¢ &  1 

(a) CÝ_mX AdgmX {dH$ma   
(b) AmV§H$ {dH$ma 
(c) H$m{`H$ A{^bjU {dH$ma   
(d) _ZmoJ«pñV-~mÜ`Vm {dH$ma  

10. EH$ Xg-dfu` ~mbH$, _mBH$b, Eogo {dH$ma go J«ñV nm`m J`m Ohm± Cgo {H$gr OmZH$mar H$mo 
gQ>rH$Vm 
{bIZo d J{UV H$aZo Ho$ ~w{Z`mXr H$m¡ebm| 
H$s{OE & 1  

(a) ñdbrZVm dU©H«$_ {dH$ma  
(b) ~m¡{ÕH$ A Vm  
(c) {d{eîQ> A{YJ_ {dH$ma   
(d) AdYmZ-Ý ỳZVm A{V{H«$`m {dH$ma  
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8. Which of the following statements is/are true about the diathesis-stress 
model ?    1    

(i) Presence of some biological aberration which may be inherited. 

(ii) Physiological disorders develop due to combination of psychological 

predisposition and stressors.    

(iii) Diathesis may carry vulnerability to develop a psychological 

disorder.  

(iv) Absence of pathogenic stressors that may lead to psychopathology. 

(a) Only (i) is true. 

(b) (i) and (iii) are true.     

(c) Only (iii) is true. 

(d) (ii) and (iv) are true.  

 
9. Some people are unable to prevent themselves from specific ideas or from 

repeatedly carrying out a set of actions that disrupts their daily 

functioning. These people are showing symptoms of ____________ . 1      

(a) Manic depressive disorder  

(b) Panic disorder  

(c) Somatic symptom disorder  

(d) Obsessive-compulsive disorder  

 
10. Michael, a 10-year-old boy, was diagnosed with a disorder where he has 

difficulty in perceiving and processing information accurately and 

efficiently. This impacts his basic skills of reading, writing and doing 

mathematics. Identify this disorder.      1   

(a) Autism spectrum disorder  

(b) Intellectual disability    

(c) Specific learning disorder 

(d) Attention-deficit hyperactivity disorder 
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11. {ZåZ{b{IV àíZ _| A{^H$WZ (A)  H$m H$WZ Am¡a CgHo$ ~mX VH©$ (R) H$m H$WZ {X`m 
J`m h¡ & (a), (b), (c), (d) _| go ghr {dH$ën Mw{ZE &  1 

 (A) :  g§kmZmË_H$ {M{H$Ëgm Ho$ AZwgma, ~MnZ _| n[adma Am¡a g_mO Ûmam 
àXÎm AZŵ d ~mbH$ _| _yb ApÝd{V `moOZm `m _yb ñH$s_m Ho$ ê$n _| 
{dH${gV hmo OmVo h¢, {OZ_| ì`{º$ Ho$ {dídmg Am¡a {H«$`m Ho$ à{Vê$n 
gpå_{bV hmoVo h¢ &  

 (R) :  Bg {M{H$Ëgm _| A{ddoH$s {dídmg nyd©dVu KQ>ZmAm| Am¡a CZHo$ n[aUm_m| 
Ho$ ~rM _Ü`ñWVm H$aVo h¢ &  

(a) A{^H$WZ (A) VWm VH©$ (R) XmoZm| ghr h¢ Am¡a VH©$ (R), A{^H$WZ (A) H$s ghr 
ì`m»`m h¡ &  

(b) A{^H$WZ (A) VWm VH©$ (R) XmoZm| ghr h¢, naÝVw VH©$ (R), A{^H$WZ (A) H$s ghr 
ì`m»`m   h¡ & 

(c) A{^H$WZ (A) ghr h¡, bo{H$Z VH©$ (R) µJbV h¡ & 

(d) A{^H$WZ (A) µJbV h¡, bo{H$Z VH©$ (R) ghr h¡ & 

12. [apËdH$ EH$ {M{H$Ëgm H$adm ahm h¡, Ohm± Cgo CZ emar[aH$ à{H«$`mAm| Am¡a ^mdZmAm| H$mo 
nhMmZZm {gIm`m Om ahm h¡ Omo CgH$s OmJê$H$Vm _| AdéÕ hmo aho h¢ & `hm± H$m¡Z-gr 
{M{H$Ëgm Cn`moJ H$s Om ahr h¡ ? 1  

(a) godmWu-Ho$pÝÐV {M{H$Ëgm  (b) CX²~moYH$ {M{H$Ëgm  

(c) g§kmZmË_H$ ì`dhma {M{H$Ëgm  (d) JoñQ>mëQ> {M{H$Ëgm  

13. X~md H$mo Xÿa H$aZo Ho$ {bE ì`dhmanaH$ {díbofU ? 1  

(i) Zo Ho$ {bE     

(ii) AZwHy$br ì`dhma Ho$ n[aUm_r g§{H«$`m H$mo ImoOZo Ho$ {bE     

(iii) XmofnyU© A{YJ_ Ho$ nyd©dVu H$s nhMmZ H$aZo Ho$ {bE     

(iv) XmofnyU© A{YJ_ H$mo ~ZmE aIZo dmbo H$maH$m| H$s nhMmZ H$aZo Ho$ {bE   

(a) (i), (iii) Am¡a (iv)  (b) Ho$db (iii) 

(c) (ii) Am¡a (iii) (d) (i) Am¡a (ii)  
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11. In the following question, a statement of Assertion (A) is followed by a 

statement of Reason (R). Select the correct choice from (a), (b), (c), (d). 1   

 Assertion (A) :  According to cognitive therapy, childhood experiences 

provided by the family and society develop core schemas 

in the child which include beliefs and action patterns in 

individual.   

 Reason (R) :  In this therapy, irrational beliefs mediate between 

antecedent events and their consequences.     

(a) Both Assertion (A) and Reason (R) are true, and Reason (R) is 

correct explanation  of Assertion (A).  

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is  not 

the correct explanation  of Assertion (A).  

(c) Assertion (A) is true, but Reason (R) is false.  

(d) Assertion (A) is false, but Reason (R) is true.  

 

12. Ritik is undergoing a therapy where he is being taught to recognise 
bodily processes and the emotions that are being blocked out from his 
awareness. Which therapy is being applied here ?  1     

(a) Client-centred therapy  (b) Logotherapy     

(c) Cognitive behaviour therapy  (d) Gestalt therapy 

 

13. Why is behavioural analysis conducted to overcome stress ? 1     

(i) To find malfunctioning behaviour  

(ii) To find the consequent operations of the adaptive behaviour     

(iii) To identify the antecedents of faulty learning   

(iv) To identify factors that maintain faulty learning  

(a) (i), (iii) and (iv) (b) Only (iii)     

(c) (ii) and (iii) (d) (i) and (ii)  
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14. {ZåZ{b{IV àíZ _| A{^H$WZ (A)  H$m H$WZ Am¡a CgHo$ ~mX VH©$ (R) H$m H$WZ {X`m 
J`m h¡ & (a), (b), (c), (d) _| go ghr {dH$ën Mw{ZE &  1 

 (A) :  g§kmZmË_H$ g§J{V H$m AW© h¡ {H$ A{^d¥{V V§Ì Ho$ Xmo KQ>H$m| H$mo {dnarV 
{Xem _| hmoZm Mm{hE & 

 (R) :  `{X ò Xmo KQ>H$ Vm{H©$H$ ê$n go EH$ g_mZ Zht h¢, Vmo ì`{º$ EH$ àH$ma 
H$s _mZ{gH$ Agw{dYm H$m AZw^d H$aVm h¡ & 

(a) A{^H$WZ (A) VWm VH©$ (R) XmoZm| ghr h¢ Am¡a VH©$ (R), A{^H$WZ (A) H$s ghr 
ì`m»`m h¡ &  

(b) A{^H$WZ (A) VWm VH©$ (R) XmoZm| ghr h¢, naÝVw VH©$ (R), A{^H$WZ (A) H$s ghr 
ì`m»`m   h¡ & 

(c) A{^H$WZ (A) ghr h¡, bo{H$Z VH©$ (R) µJbV h¡ & 

(d) A{^H$WZ (A) µJbV h¡, bo{H$Z VH©$ (R) ghr h¡ & 

15. H$m°boO _| ApídZ Ho$ H$j _| gmW ahZo dmbo, EH$ {deof àXoe Ho$ {Zdmgr, N>mÌ H$m ì`dhma 
CgHo$ à{V Agä` d ñdmW©nyU© Wm & A~ ApídZ Bg àXoe {deof Ho$ bmoJm| go Z {_ÌVm 
H$aVm h¡ Am¡a Z hr CÝh| Zm¡H$ar na {Z`wº$ H$aVm h¡ & Cgo bJVm h¡ {H$ Cg amÁ` Ho$ bmoJm| _| 
{dZ_«Vm H$m A^md h¡ & `h CXmhaU h¡ : 1 

(a) ñdV: gmYH$ ^{dî`mo{º$  

(b) gË` H$m AmYma VÎd 

(c) ~{b H$m ~H$am ~ZmZm   

(d) gm_m{OH$ g§kmZ  

16. {ZåZ{b{IV _| go A{^d¥{Îm n[adV©Z H$m H$maU ~ZZo dmbm H$m¡Z-gm H$maH$  
h¡ ? 1 

(a) g§Xoe H$s {deofVmE±  

(b) n`m©daUr {deofVmE± 

(c) òmoV H$s {deofVmE±  

(d) bú` H$s {deofVmE± 
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14. In the following question, a statement of Assertion (A) is followed by a 

statement of Reason (R). Select the correct choice from (a), (b), (c), (d). 1  

 Assertion (A) :  Cognitive consistency means that two components in an 

attitude system must be in the opposite direction.    

 Reason (R) :  If the two elements are not logically in consonance with 

each other, it leads to distress in the individual.      

(a) Both Assertion (A) and Reason (R) are true, and Reason (R) is 

correct explanation  of Assertion (A).  

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is  not 

the correct explanation  of Assertion (A).  

(c) Assertion (A) is true, but Reason (R) is false.  
(d) Assertion (A) is false, but Reason (R) is true.  
 

15. articular State, was 

always rude and selfish towards him. Ashwin now does not befriend or 
employ people from this State as he feels that they are all impolite. This 
is an example of    1    

(a) Self-fulfilling prophecy   

(b) Kernel of truth      

(c) Scapegoating   

(d) Social cognition  

 

16. Which one of the following is not a factor that will lead to attitude 

change ?    1    

(a) Message characteristics   

(b) Environmental characteristics      

(c) Source characteristics   

(d) Target characteristics 
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17. h_ g^r {H$gr-Z-{H$gr àH$ma Ho$ g_yh go g§~§{YV hmoVo h¢ & `{X Amn geñÌ ~b _| 

em{_b hmoVo h¢, Vmo dh {H$g àH$ma H$m g_yh hmoJm ? 1 

(i) àmW{_H$     

(ii) {ÛVr`H$ 

(iii) Am¡nMm[aH$    

(iv) AZm¡nMm[aH$  

(a) (i), (iii) Am¡a (iv) 

(b) (iii) Am¡a (iv) 

(c) (ii) Am¡a (iii) 

(d) (i), (ii) Am¡a (iv)  

18. {ZåZ{b{IV àíZ _| A{^H$WZ (A)  H$m H$WZ Am¡a CgHo$ ~mX VH©$ (R) H$m H$WZ {X`m 

J`m h¡ & (a), (b), (c), (d) _| go ghr {dH$ën Mw{ZE &  1 

 (A) :   
gm_m{OH$-Am{W©H$ pñW{V Ho$ n[admam| Ûmam JmoX bo {b`m OmVm h¡, CZH$s 
~w{Õ àmám§H$m| _| AË`{YH$ d¥{Õ {XImB© XoVr h¡ & 

 (R) :  n`m©daUr dMZ ~w{Õ Ho$ {dH$mg H$mo KQ>m XoVm h¡ O~{H$ àMwa Ed§ g_¥Õ 
nmofU, AÀN>r nm[adm[aH$ n¥îR> ŷ{_ VWm JwUdÎmm ẁº$ {ejm-Xrjm ~w{Õ _| 
d¥{Õ H$a XoVr h¡ & 

(a) A{^H$WZ (A) VWm VH©$ (R) XmoZm| ghr h¢ Am¡a VH©$ (R), A{^H$WZ (A) H$s ghr 
ì`m»`m h¡ &  

(b) A{^H$WZ (A) ghr h¡, bo{H$Z VH©$ (R) µJbV h¡ & 

(c) A{^H$WZ (A) µJbV h¡, bo{H$Z VH©$ (R) ghr h¡ & 

(d) A{^H$WZ (A) VWm VH©$ (R) XmoZm| ghr h¢, naÝVw VH©$ (R), A{^H$WZ (A) H$s ghr 
ì`m»`m   h¡ & 
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17. We all belong to different types of groups. What type of group will the 
armed forces be if you join it ?    1   

(i) Primary  

(ii) Secondary    

(iii) Formal    

(iv) Informal  

(a) (i), (iii) and (iv) 

(b) (iii) and (iv) 

(c) (ii) and (iii) 

(d) (i), (ii) and (iv)  
 

18. In the following question, a statement of Assertion (A) is followed by a 

statement of Reason (R). Select the correct choice from (a), (b), (c), (d).  1 

 Assertion (A) :  Children from disadvantaged homes, when adopted into 

families with higher socio-economic status, exhibit a large 

increase in their intelligence scores.   

 Reason (R) :  Environmental deprivation lowers intelligence while rich 

nutrition, good family background and quality of 

schooling increases intelligence.       

  

(a) Both Assertion (A) and Reason (R) are true, and Reason (R) is 

correct explanation  of Assertion (A).  

(b) Assertion (A) is true, but Reason (R) is false. 

(c) Assertion (A) is false, but Reason (R) is true. 

(d) Both Assertion (A) and Reason (R) are true, but Reason (R) is  not 

the correct explanation  of Assertion (A).  
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IÊS> I 

19. Am{Xb Zm_H$ EH$ ẁdH$ Eogr AmH«$m_H$ H$m ©̀dmhr H$aVm h¡, {Oggo AÝ` ì`{º$`m| `m 
new §KZ H$aVm h¡ & ò 

? Xmo AÝ` AmH«$m_H$ àH$ma Ho$  2 

20. (H$) a§OZ Zo AnZo OrdZ _| AZoH$ hmXgm| (XþK©Q>ZmAm|) H$m gm_Zm {H$`m h¡ & BgHo$ 
~mdOyX {H$  h¢, dh {ZåZ amoJ ñVa Xem©Vm h¡ & H$m¡Z-gr 
{deofVm a§OZ O¡go bmoJm| H$mo X~md-à{VamoYr ~ZmVr h¡ ?  2 

                       AWdm 

(I) Zrad Ho$ _mVm-{nVm hmb hr _| ~|Jbwé ñWmZm§V[aV hþE h¢ Am¡a Cgo ZE eha _| ~gmZo 
_| ì`ñV h¢ & Zrad H$mo ZmJnwa Ho$ AnZo XmoñVm| H$s `mX AmVr ahVr h¡ & BgH$m 
à^md CgHo$ e¡{jH$ àXe©Z na ^r {XImB© XoVm h¡ & Bg X~md H$m òmoV ? 
X~md Ho$ AÝ` òmo    2 

21. g§kmZmË_H$ {dH¥${V H$mo ñnîQ> H$s{OE & EH$ godmWu Ûmam AZŵ d {H$E OmZo dmbo g§kmZmË_H$ 
{dH¥${V H$m EH$ CXmhaU Xr{OE &  2 

22. H$ënZm H$s{OE {H$ Amn EH$ H$m°boO Ho$ N>mÌ h¢, Omo Xoe H$s AW©ì`dñWm _| `moJXmZ XoZm 
MmhVo h¢ & EH$ Eogr à{H«$`m H$m gwPmd Xr{OE, {Ogo Amn AnZo gm{W`m| H$mo Ho$db ^maVr` 
gm_mZ IarXZo Am¡a Bg g§X ©̂ _| CZH$m A{^d¥{Îm n[adV©Z H$aZo Ho$ {bE Cn`moJ H$a|Jo Vm{H$ 
Xoe H$s AW©ì`dñWm gwYa gHo$ & 2 

23. A§V: g_yh Ed§ ~mø g_yh _| A§Va ñnîQ> H$s{OE & 2 

IÊS> J 

24. a`mZ Am¡a {earZ EH$ hr n`m©daU _| nbo- -~hZ h¢ & a`mZ J{UV Ho$ g^r gyÌm| H$mo 

OmZVm h¡ Am¡a CÝh| Á`m| H$m Ë`m| Xmoham gH$Vm h¡ bo{H$Z BZ gyÌm| na AmYm[aV àíZm| H$mo hb 

Zht H$a gH$Vm, O~{H$ {earZ CZ gyÌm| na AmYm[aV {H$gr ^r àíZ H$mo BZ gyÌm| H$m Cn`moJ 

H$a hb H$a gH$Vr h¡ & XmoZm| {Og ~w{Õ H$m àXe©Z H$aVo h¢, CgH$s ì`m»`m H$s{OE & `h 

{gÕm§V {H$g CnmJ_ na AmYm[aV h¡ ? 3 

25. _mZ{gH$ {dH$mam| H$mo g_PZo Ho$ {bE à ẁº$ {H$Ýht VrZ _Zmod¡km{ZH$ _m°S>bm| H$mo ñnîQ> 

H$s{OE & 3 



  

63 Page 17 of 23 P.T.O.   

Section B 

19. Adil, a young man, shows aggressive actions that threaten or cause harm 
to people or animals and indulges in serious rule violations. What are 
these symptoms indicative of ? Mention two other types of aggressive 
behaviour.    2 

20. (a) Ranjan has faced a lot of mishaps in his life. However, he shows low 
levels of illness despite high levels of stress. What makes people 
like Ranjan resistant to stress ?    2 

                     OR 

(b) Neerav
busy settling him in the new city. Neerav misses his friends back in 
Nagpur and this has impacted his academic performance. What is 
the source of this stress ? State the other sources of stress as well.  2 

21. Explain cognitive distortions. Give an example of cognitive distortion that 
a client might be experiencing.     2 

22. Suppose you are a college student who wants to contribute towards the 
 to bring an 

attitude change amongst your peers towards buying only Indian goods to 
   2 

23. Differentiate between ingroup and outgroup.    2 

Section C 

24. Ryan and Shireen are siblings brought up in the same environment. 
Ryan knows all the formulae in mathematics and can recall them as they 
are but cannot solve problems based on those formulae, whereas Shireen 
can use formulae to solve any kind of problem that are based on them. 
Explain the intelligence they both exhibit. Which approach is this theory 
based on ?    3 

25. Explain any three psychological models used to understand mental 
disorders.     3 
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26. (H$)  {H$gr {d{eîQ> {df` Ho$ à{V EH$ ì`{º$ H$s A{^d¥{Îm CgHo$ ì`dhma Ho$ {dnarV hmo 

gH$Vr h¡ &  gmú` Ho$ gmW Bg H$WZ H$s nwpîQ> H$s{OE & 3 

                      AWdm 

(I)  _yë` Am¡a {dídmg A{^d¥{Îm Ho$ g_mZ Zht h¡§ &  Bg H$WZ H$s gmoXmhaU ì`m»`m 
H$s{OE & 3 

27. _hH$ _Zmo{dkmZ g_yh  H$s EH$ _hÎdnyU© gXñ`m h¡ Am¡a hmb hr _| CgH$m M`Z \w$Q>~m°b 
Q>r_ H$s gXñ`m Ho$ ê$n _| ^r hþAm h¡ & g_yh Am¡a Q>r_ {OgH$s dh gXñ`m h¡, Ho$ ~rM 

?  3 
IÊS> K 

28. (H$) {H$g _m°S>b Ho$ AZwgma ~m¡{ÕH$ {H«$`mE± AÝ`moÝ`m{lV VrZ V§{ÌH$s` `m ñZm`w{dH$ 
V§Ìm| H$s {H«$`mAm| Ûmam g§nm{XV hmoVr h¢ ? dU©Z H$s{OE & 4 

                     AWdm 
(I) ì`{º$ H$m gm§ñH¥${VH$ n`m©daU ~w{Õ Ho$ {dH${gV hmoZo _| EH$ g§X ©̂ àXmZ H$aVm h¡ & 

g§ñH¥${V H$s ŷ{_H$m ~w{Õ Ho$ {df` _| h_mar g_P H$mo H¡$go à^m{dV H$aVr h¡ ? 
ñnîQ> H$s{OE &  4 

29. EH$ AÜ``Z _| nm`m J`m {H$ 6 gmb H$s Am ẁ Ho$ EH$-
O~{H$ {~«{Q>e Ûrn-g_yh _| gm±nm| H$m gm_Zm hmoZm Xþb©̂  h¡ & A{^Km  
^r gm±nm| Ho$ g§nH©$ _| Zht AmE Wo & {\$a ^r gm±n CZ_| {MqVV AZw{H«$`mE± CËnÞ H$aVo Wo & 
H$mb© ẁ§J Ho$ ì`{º$Ëd Ho$ {gÕm§V Ûmam Bgo H¡$go g_Pm Om gH$Vm h¡ ? CZHo$ {gÕm§V na 
àH$me S>m{bE &  4 

30. (H$) n`m©daU go à^mdr T>§J go {ZnQ>Zo Ho$ {bE ì`{º$`m| Ho$ nmg ghr OrdZ H$m¡eb hmoZm 
Mm{hE & {H$Ýht Mma OrdZ H$m¡ebm| H$mo ñnîQ> H$s{OE &  4 

                      AWdm 
(I) , Am{X H$B© ~r_m[a`m± X~md go g§~§{YV hmo gH$Vr h¢ & Eogm 

hmoZo go amoH$Zo Ho$ {bE h_| X~md à~§YZ VH$ZrH$m| Ho$ ~mao _| OmJê$H$ hmoZo H$s 
Amdí`H$Vm h¡ & BZ_| go {H$Ýht Mma VH$ZrH$m| H$mo ñnîQ> H$s{OE &   4 

31. 
_Zmo{dkmZ Ho$ 
Amn {H$Z VH$ZrH$m| H$m gwPmd X|Jo ?   4 
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26. (a) ary 
 3 

                                 OR 
(b) 

statement with the help of examples.   3 
27. Mehak is an important member of her Psychology group and has recently 

been selected to be a member of the football team as well. What is the 
main difference between the group and the team that she is a part of ?  3 

 

Section D 

 
28. (a) Describe the model which states that intellectual activity involves 

the three interdependent functioning of neurological systems.  4 

                             OR 

(b) The cultural environment provides a context for intelligence to 
develop. How does the role of culture influence our understanding of 
intelligence ? Explain.   4 

 
29. A study found that one-third of British children, at age six, are afraid of 

snakes even though it is rare to encounter snakes in British Isles. The 
children had never come in contact with snakes in a traumatic situation, 

theory of personality explain the same ? Throw some light on his theory.   4 
 
30. (a) To deal effectively with environment, the individuals must possess 

the right life skills. Explain any four of these life skills.   4 
                            OR 
(b) Many ailments like hypertension, ulcers, etc. could be stress related. 

To prevent this from happening, we need to be aware about stress 
management techniques. Explain any four of these techniques.   4 

 
31. An eight-year-old child is showing aggressive and disruptive behaviour in 

the class. As a student of Psychology, what techniques would you suggest 
ur ?       4 
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IÊS> L> 

32. (H$) ì`{º$Ëd  H$mo g_PZo Ho$ {bE H$B© {gÕm§Vm| H$m Cn`moJ {H$`m J`m h¡ & MMm© H$s{OE 
{H$ àmMrZ H$mb go bmoJm| H$mo ì`{º$Ëd Ho$ àê$nm| _| dJuH¥$V H$aZo Ho$ à`mg H¡$go 
{H$E JE h¢ & 6 

                    AWdm 
(I) \«$m°`S> Ho$ AZwgma, bmoJ dmñV{dH$Vm H$mo {dH¥$V H$a Ah§ H$s ajm H$aZo dmbr 

ẁ{º$`m| H$m Cn`moJ H$a XþpíM¨Vm go ~MVo h¢ & BZ ẁ{º$`m| ? 
CXmhaUm| H$s ghm`Vm go BgHo$ {d{^Þ àH$mam| H$mo ñnîQ> H$s{OE &  6 

IÊS> M 

 33  34 :

  N>h- , _moh{gZ 
hmoVr h¡, bo{H$Z _mVm-{nVm Ho$ à{ejU Zo Cgo Wmo
n[adma go ~mha {_Ì ~ZmZo _| g_ñ`m hmoVr h¡ Am¡a gm_m{OH$ n[apñW{V`m| _| bmoJm| Ho$ gmW 
ì`dhma H$aZo _| H${R>ZmB© hmoVr h¡ & CgHo$ _mVm-{nVm h_oem CgHo$ ~mao _| qM{VV ahVo h¢ Am¡a 
OmZVo h¢ {H$ X¡{ZH$ H$m`m] _| Cgo bJmVma XoI-aoI H$s Amdí`H$Vm h¡ & _moh{gZ H$m ^mB© 

Amdí`H$VmE± bo{H$Z CgHo$ 
gm{W`m| Ho$ {bE Cgo g_PZm _wpíH$b h¡ àofU Am¡a ^mfm H$m¡ebm| _| dh CZgo nrN>o 
h¡ & 

  _moh{gZ H$s Bg nyar `mÌm Ho$ Xm¡amZ _Zmod¡km{ZH$m| Am¡a ñdmñÏ`H${_©̀ m| Zo CgHo$ n[adma 
Ho$ gmW {d{^Þ aUZr{V`m| Am¡a g§gmYZm| H$m Cn`moJ H$a CgHo$ gmW©H$ ^{dî` Ho$ {bE 
`moOZmE± ~ZmZo na Ü`mZ H|${ÐV {H$`m & BgHo$ A§VJ©V CÝh| ghr g_` na Cn ẁº$ OmZH$mar 
XoZm, g§gmYZm| H$mo g_PZm Am¡a CZgo Ow    

 

33. (H$) _moh{gZ {H$g {dH$ma H$mo àX{e©V H$a ahm h¡ ? Bgo ñdbrZVm dU©H«$_ {dH$ma go  

AbJ H$s{OE &  2 

                      AWdm 

(I) _moh{gZ _| {XImB© XoZo dmbo bjU Cg {dH$ma Ho$ A{V J§̂ ra ê$n go H¡$go AbJ h¢ ? 2 

34. _moh{gZ Ho$ {dH$ma H$mo g_PZo Ho$ {bE _Zmod¡km{ZH$ {dH$mam| H$mo dJuH¥$V H$aZo Ho$ {bE 

_Zmod¡km{ZH$ {H$g dñVw H$s ghm`Vm boVo h¢ ? 2 
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Section E 
32. (a) 

Discuss how efforts have been made to categorise people into 
personality types since ancient times.     6 

                   OR 
(b) According to Freud, individuals avoid anxiety by using mechanisms 

that protect the ego by distorting reality. What are these 
mechanisms called ? Explain its different kinds with the help of 
examples.    6 

Section F 

 Read the case study and answer the question (Q. 33  34) that follows :  

  Mohsin, a 6-year-old boy, has difficulty in feeding and dressing 
himself, but training from his parents has helped him to be a little 
independent. He faces trouble making friends outside his family and has 
difficulty in dealing with people in social situations. His parents are 
always worried about him and are aware that he needs consistent level of 

rstands his needs and 
what he says but it is difficult for his peers to understand him as he lags 
behind them in communication and language skills.  

  
focused on engaging his family in meaningful future planning using a 
variety of strategies and resources. This included offering them ongoing 
and timely information and assisting the family to understand and 
connect to resources.     

    

33. (a) Identify the disorder Mohsin is exhibiting. Distinguish it from 
autism spectrum disorder.     2 

                             OR 

(b) How are the symptoms that Mohsin is exhibiting different from a 

more severe form of that disorder ?    2 

34. 
classify psychological disorders ?     2 
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 35  36 :   

 gHo$ _mVm-{nVm 

CZH$m Jbm Km|Q> X| & Hw$N> Zo H$hm {H$ Eogm H$aZm Cg 

AmOrdZ ^wJVZm hmoJm & Am±Im| Ho$ A^md _| dh EH$ ~oH$ma   Zo H$hm {H$ 

go D±$Mm {H$ `{X Xþ{Z`m _wPo XoIH$a H$hVr h¡ {H$ lrH$m§V Vw_ 

Hw$N> Zht H$a gH$Vo  Vmo _¢ Xþ{Z`m H$mo XoIH$a H$hVm hÿ± {H$ _¢ g~ Hw$N> H$a gH$Vm hÿ± &  

 lrH$m§V h¡Xam~mX pñWV ~mob¢Q> B§S>ñQ́>rO H$m g§ñWmnH$ Am¡a gr.B©.Amo. h¡ & `hm± n`m©daU Ho$ 

AZwHy$b {S>ñnmoµOo~b Cn^moº$m n¡Ho$qOJ gm°ë ỳe§g ~ZmZo Ho$ {bE A{e{jVm| Am¡a {Xì`m§Jm| H$mo 

{Z ẁº$ {H$`m OmVm h¡ & `h CÚmoJ < 50 §V ñd §̀ H$mo g~go ^m½`embr 

_mZVm h¡, , ~pëH$ Bg{bE {H$ CgHo$ A{e{jV  

_mVm-{nVm, {OZH$s dm{f©H$ Am` Ho$db < 20,000 Wr, Zo {H$gr H$s gbmh  Zht _mZr Am¡a 

Cgo m¡a ñZoh go nmbm & lrH$m§V H$hVm h¡, _¢ OmZVm h±ÿ {H$ do g~go A_ra ì`{º$ 

h¢ &  

 

35. h_ XoI gH$Vo h¢ {H$ lrH$m§V _| n`m©daU Ho$ à{V AZwHy$bZ, Cgo AmH$ma XoZo Am¡a M`Z H$aZo 

H$s `mo½`Vm h¡ & ~w{Õ Ho$ Cg {gÕm§V Ho$ {df` _| ~VmBE Omo lrH$m§V H$s ~w{Õ H$mo g_PZo _| 

h_mao {bE g~go A{YH$ ghm`H$ hmoJr & 2 

 

36. lrH$m§V Jd© go ga D±$Mm {H$E AnZo {dídmg Ho$ ~b na  h¡ Am¡a H$hVm h¡ {H$ `{X 

Xþ{Z`m _wPo XoIH$a H$hVr h¡ {H$ lrH$m§V Vw_ Hw$N> Zht H$a gH$Vo  Vmo _¢ Xþ{Z`m H$mo XoIH$a 

H$hVm h±ÿ {H$ _¢ g~ Hw$N> H$a gH$Vm hÿ± &  JmS>©Za Ho$ ~hþ-~w{Õ H$m {gÕm§V Ho$ AZwgma, ~w{Õ 

H$m H$m¡Z-gm àH$ma BgH$s gQ>rH$ ì`m»`m H$aVm h¡ ? Bg ~w{Õ àH$ma Ho$ ~mao _| g§jon _| MMm© 

H$s{OE & 2 
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 Read the case study and answer the question (Q. 35  36) that follows :  

  When Srikanth Bolla was born, neighbours in the village suggested 

that his parents smother him. It was better than the pain they would 

y 

without eyes; being born blind is a sin, others added. Twenty-three years 

later, Srikanth is 

looks at me and says  I look back at the 

world and say, I can do anything.   

  Srikanth is the Founder and CEO of Hyderabad-based Bollant 

Industries, an organisation that employs uneducated and challenged 

employees to manufacture eco-friendly, disposable consumer packaging 

solutions, which is worth < 50 crore. He considers himself the luckiest 

man alive, not because he is now a millionaire, but because his 

uneducated parents, who earned < 20,000 a year, did not heed any of the 

sed him with love and affection. They are 

the richest people I know,  says Srikanth.   

 

    

35. We can see that Srikanth has the ability to adopt, shape and select the 
environment. Identify the theory of intelligence that would best support 
our understanding of Srikanth   2 

 

36. l living by his conviction that if the world looks 

, I look back at the world 

intelligences, which kind of intelligence explains this ? Discuss this 
intelligence in brief.  2 


